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	31
	2n × n, 2(n × n) = 2n2
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	32
	10n(n +1)  = 5n(n +1)


    2


	1

	 FORMCHECKBOX 

	
	

	33
	3n + 2
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	34
	i)   6  ( 15

ii)  10 (
45

iii)  n(  n(n -1)

    2
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	35
	a)
-2, -1, 0, 1, 2, 3, 4


10, 8, 6, 4, 2, 0, -2


Ignore outside -2 to 4

b)  graph drawn

c)
i) x = -1.5, y = 9


  ii) y = 3.4, x = 1.3
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	36
	a)   88 m

b)   AB constant speed

      BC gradually slowing down

      CD stationary.


	4

	 FORMCHECKBOX 

	
	

	37
	i)
x
-2, -1,  0,  1,   2,  3,  4, 5


y
 5, -1, -5, -7, -7, -5, -1, 5

ii)
x = -1.2


   x = 4.2
	6

	 FORMCHECKBOX 

	
	

	38
	-2, -1, 0, 1, 2


	2
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	39
	3
	1
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	40
	3.2
	4
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	41
	2.53 - 2.5 = 13.125

2.63 - 2.6 = 14.976

2.73 - 2.7 = 16.983

so x = 2.6
	3
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	42
	a)
25 + 2 ( 2/3 ( 5.67


32.56



(C)

b)
u2 = v2 -2as

u = ((v 2 - 2as)

        (B)
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	43
	(21 - 16)/32 = 5/32
	3
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	44
	(( ( 60)/3000 ( (2 ( 252 + 202) = (( ( 60)/3000 ( 1650 = 103.67...

3.14 ( 103.62

3.142 ( 103.68..

22/7 ( 103.71..

so V = 104
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	45
	a)    (3 + x)(3 + x) or (3 + x)2  = (x + 3)2
b)    (3 + x)(3 + x) = 10 

        9 + 3x + 3x + x2 = 10

        x2 + 6x + 9 = 10 and
        x2 + 6x = 1
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	46
	a)
(-6)2 + 2 ( 5 (0.8 = 7


or -62 + 2 ( 5 (0.8 = 7

b)
u 2 = v 2 -2as

u = ((v 2 - 2as)
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	47
	a)
i) 2t(2s + 4u - v)

a)
ii) 3x(5 + x)

b)   8a - 2a2
c)   2c2 - 8c + 3c - 12 = 2c2 - 5c - 12
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	48
	a)
i) 4x3y2

ii) 16p4q6
b)
i) 3a2b2(3b + 5a)


ii) (x + 12)(x - 5)

c)  
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	49
	7y - 2y > - 3 

5y > - 3;  y > -3/5


	2
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	50
	3x + 2y = 11

2x - 2y = 14

Adding gives

5x = 25 so x = 5

Substituting gives

15 + 2y = 11

so 2y = -4

therefore y = -2
	3

	 FORMCHECKBOX 

	
	

	51
	6p + 4q = 12

6p + 15q = -21

Subtracting gives

11q = -33 ( q = -3;  p = 4
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	52
	2p2q2(p - 2q)


	2
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	53
	Eqn (1) × 3 ( 9x + 3y = 39

Adding ( 11x = 55

÷ by 11 ( x = 5

Substitute ( 15 + y = 13




    y =-2

OR
y = 3 - 3x
2x - 3(13 - 3x) = 16

11x = 55, x = 5

Substitute ( 15 + y = 13
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	54
	p1.5 ( p0.5 ( p-5 = p1.5+0.5-5 = p-3
 so x = -3
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	55
	a)   graph of y = 5 + 2x - x2 drawn

b)   line y = x + 4 drawn

      x values at intersection = -0.6 and 1.6.
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	56
	a) -10

6



-6

54

b)
i) Plot point and draw graphs


ii) x3 - 2 = 3x2 + 3x -6 ( x3 - 3x2 - 3x + 4 
= 0 Read off x at intersections

x = -1.35, 0.85 and 3.5 (all ( 0.1)
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	57
	ax + b = cx + d

(a - c)x = d - b

so  x = d - b  

           a - c
	3
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	58
	i) (2y + 9)(2y - 9) = 0  so y = 4.5  or y = -4.5

ii)
(3 + (x +2))/(3(x + 2)) = -1


x + 5 = -3(x + 2)


x + 5 = -3x - 6

          4x = -11 so x = -2.75
	6

	 FORMCHECKBOX 

	
	

	59
	x = 5 (((25 + 32) ;  x = 3.14 and x = -0.637


4
	4
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	60
	a) Tangent drawn at age 14; gradient = 13.

b) rate of growth
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	61
	a) Use of t2 values: 0.25, 1, 2.25, 4, 6.25

b) a = 0.1, b = 1.1
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	62
	a)   (x - 7)(x + 3)

b)
 (x - 1) - 3(x + 2)

   (x -1)(x + 2)


=   _-2x - 7_

      x2 + x -2

c)   (u + v)/uv = 1/f
so    f =  __uv__

  u + v
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	63
	a(x + y) - b(x + y) = (a - b)(x + y)
	2
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	64
	

	4
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	65
	a)
i) (x + 2)(x - 6)

     ii) (a)i = 0, (x + 2)(x - 6) = 0; x = -2 and 
x = 6

b)  A = (6,0)  B = (-2,0)

c)   Sketch graph, the given one moved +2 parallel to x-axis
	6
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	66
	a) tangent drawn at t = 10, or chord drawn about t = 10 vert/horiz; 2.3 - 2.8 ms-2
b) attempts to find area, splits area or count squares; 3 marks for answers in the range: 30 - 35 or 41 - 46; 4 marks for answers in the range 35 - 41.
	8

	 FORMCHECKBOX 

	
	

	67
	a = 5.4 b = 90
	5
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	68
	a) 2y = 6 - x  or  x/2 + y = 3; 



EMBED Equation.3
 or 


                             (B)

b) e.g.(0,3 ), (6, 0), (2, 2), (4, 1)

        

                                                          (C)

c)




                                                      (B)
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	69
	a)
i) graph of x + y = 4 or y = -x + 4

a)
ii) graph of y = x + 2

b) x = 1, y = 3
	4
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	70
	a) Velocity = 11.4 m/s.  Do not accept responses which merely read off values without adding interpretation (B)

b) The car accelerates (the speed increases).  Then it travels at a constant speed (or velocity),  then there is a constant deceleration (or the car brake steadily). (B)

c) Draw tangent at t = 10. Calculate the gradient as 0.57 - 0.73. 

Alternative: allow a chord about the required point e.g (11.4 - 5)/10 = 0.64 (B)

d) Realises area needed. Splits area up e.g. use of trapezium rule, or dividing area up into smaller parts to count squares. (A)
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	71
	a) V = 22/7 ( (42 - 0.52) ( 2¾ = 136 1/8 or 136.125

b)
2((R + r)(R - r + h) = 2((R2 - r2)h

(R + r)(R - r + h) = (R2 - r2)h

(R + r)(R - r + h) = (R + r)(R - r)h

R - r + h = (R - r)h

R - r = (R - r -1)h
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